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Personality and Arousal
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(©) 3 marks for 3 of:
1. Behaviour is a function of personality and environment
2. B=f(PE)
3. Leads to stable behaviour in a certain situation
4. Change environment change behaviour




image7.png
Total for this question: 15 marks

The outcome of a sprint race may be determined by a performer’s personality and ability to
overcome and generate forces to provide acceleration and maintain velocity.

(a) The performance and behaviour of sports performers may be affected by their personalitics.
Discuss this statement, using suitable examples, with reference to both trait and interactionist
theories of personality. (7 marks)
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rait theory

Inherited characteristics/born with/innate/genetic;
Stable/enduring/unchanging;

Same behaviour in a variety of situations;

Behaviour i predictable.

E.g. aggressive in all situations/extrovert in all situations/ete.

b we e

Sub max 4 marks
Interactionist theory
6. B =1 (PE)/behaviour is a function of personality and environment;
7. Inherited traits are amended by environmentsituation;
8. Leads to stable behaviour in a certain situation;
9. Change environment change behaviour.
10. Eg: normally calm, but becomes aggressive in sport environment.
sub max 4 marks
7 marks
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(d) Using drive theory, explain why performers such as golfers might hit some bad shots
due to their levels of arousal. (3 marks)
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3 marks for 3 of:

1.
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Increased drive/arousal means performer tries harder/linear relationship to
performance/p =d x h

Elicits dominant response/habit

Beginnerlearly/cognitive/associative stage of leaming - negative effects
because of low skilllevels

Dominant response not fully developedinot correct

Impairment effect more likely because complex task

Negative effect enhanced f thought to be judged/evaluation apprehension
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(b)  Psychologists have presented different theories to explain personality. One of these
theories s trait theory.

Explain the trait theory of personality. (3 marks)
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Inherited/genetic/born with;
Enduring/stable/unchanging;
Predisposition to behave in a certain way;

Consistent/same behaviour all of the time;

Eysenck and introvertism/neuroticism/Catell and 16PF;

Role of Reticular Activating System (RA)S and arousal explained

. 3 marks
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(¢)  Explain how the interactionist theories of personality enable us to predict the behaviour
of performers. (3 marks)
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